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The Niagara River runs from Lake Erie in the south to Lake Ontario in the north.
It's about 50 kilometers long and it's a border between the U.S. and Canada. Lake
Erie is about 100 meters higher than Lake Ontario. So the river flows very fast.
In the middle of the river, there are two big falls called Niagara Falls. They are
the American falls and the Canadian falls. Between the two falls, there is a small
island called Goat Island. It is a part of the State of New York. The Canadian

Falls are larger than the American Falls.
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The Niagara River / runs from Lake Erie / in the south/ to Lake Ontario / in the north./
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It's about 50 kilometers long / and it's a border / between the U.S. and Canada. /
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Lake Erie / is about 100 meters higher / than Lake Ontario./ So the river flows /
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very fast. / In the middle of the river, / there are two big falls / called Niagara Falls. /
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They are the American falls / and the Canadian falls./ Between the two falls, /
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there is a small island / called Goat Island. / It is a part / of the State of New York.
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The Canadian Falls / are larger / than the American Falls./
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The Niagara River iiftcw % from Lake Erie 2@if<) milc to Lake Ontario in the north.
It's about 50 kilometers long and it's a 3[#5i between the U.S. and Canada.

Lake Erie is about 100 meters 4X& b &\ than Lake Ontario. So the river SHiat T %
very fast. 0uic) DRI the river, there are two big 7iis 8 & MEEN % Niagara Falls.
They are the American falls and the Canadian falls. “@Hic the two falls, there is

a small 10§ called Goat Island. It is 1i#4r of the State of New York.

The Canadian Falls are 12X h K& than the American Falls.
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O The Niagara River runs
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— from Lake Erie.
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— [t’s a border — between the U.S. and Canada.
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It’s a border between the U.S. and Canada.
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— In the middle of the river,
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— there are two big falls.
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Q In the middle of the river, there are two big falls.
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